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- Q3.a)a newspaper dealer buys newspaper for Rs.2 each and sells them at Rs.3 o, An
Papers not sold at the end of the day are completely worthless. The dealer has kept 4 b
of his sales for the past 100 days which is given below. Find the number of copies h, .
stock so that the expected profit is maximum.

|__Dailysales | 300 | 400 | 500 | 600 | 700 . )
[ ENG:of daysiy | 1015 5] 200 a5 8 H15.8 | K0S
uro. Of each / 0.15] o.zo] 0.45 | 0.15 | 0.05
no. being sold
b) Mr. Patel owns a resort. He has received an offer from a hotel chain to operate the o

for the tourist season, offering him an amount of Rs.2, 25,000 for the season. If he ODQr

the resort himself his profits will depend upon whether the season is good he will Make
[ of Rs.4, 00,000. If it is medium, the profits will be Rs.2, 50,000 and for a slack season t'm
| profits will be 1, 50,000. The probability for the 3 is 0.4, 0.3 and 0.2 resply. Draw a decisq,
/ tree and find whether he should run the resort himself or accepts the offer of the hote| Eh..

/ considering expected profits.
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£f Q.3.a) A housewife buys a dozen eggs of which 2 are bad. She chooses 4 eggs to scramb|e :
breakfast. Find the probability that she chooses (i) all good eggs (ii) 3 good and 1 bad (i) ;

good and 2 bad eggs.

b) Find Mean and Variance of x given the following probability distribution
I [-10] ST 20] 25 | 30
|_Probability | 1/5 | 3/20,01/2 | 1/10 | 1/20

l\(jl“.

Q.4.a) What are the limitations of Statistics?
b) Following data relate to factory sizé a€cording to employment

GRSk At / 0- / 50- |¢dao; | 200- | s00- \ 1000- | 2000
[ size(number) 50 100 200 500 1000 2000 \ 500
[ No. of factories(in 100) | 31 | 29 70 63 e s =
Draw a ‘less than’ curve and a ‘more than’ curyé for the above data. n

OR

Q.4.a) Write a note on Limitation of Index Number?
b) Represent the following data by histogram and frequency polygon

[‘ No. of units of / No. of No. of units of | No. of
|

electricity consumed | consumers electricity consumed consumer:\
0-200 s 600-800 e |

L 200400 T [ 800-1000 3
400600 . | R 1000-1200 150 0
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